GM/GP/GPH/GR/GRS/GH/GS/ GT /Gv

GCTRIIEL DX
o]k e

o« EEFERRE
* THADK

* DEHSHES
o megEs

o REER:

* MEF/SH0

o BB PR R HE
* AAHIAIBSPPIEO]

o Hfthha

Rz

* RIS

o REBHM
* FHEMN
* FHH
e BmIW
* BIRIRE
o JEEH
* AN

¥ Bl % E
RERRBRAE

—RBH

RAHEE cm3/rev [in3/rev] 7243 [44.2]

e RIR RPM 775

RAHE daNm [Ib-in] JELE: 130 [11500]  HREE: 148 [13100]

RARIHINE kW [HP] 40 [54]

bar [PSI] ¥EZE: 200 [2900] r4E: 240 [3480]

BRARE Ipm [GPM] 150 [39.6]

®IEEER RPM 5

SO 895 [ & 7a daNm [lbs] Pa=1000 [2250]

TEBR - ¥05H HLP (DIN 51524) 8 HM (ISO 6743/4)

RESEE °C[°F] -40F 140 [-40%F284]

KRB E mm2/s [SUS] 20F75 [98%347]

g ISO {85 20/16 (HEFFRINITIRIEE 2560K)

S
\
\
\.
\
\
&=
=
T

1§ 6 BB N EI= 16 9/16-18UNF &3k 21 O®LE 26 EfIHE
2 G 7 &5 12 BEHE 17 OBLE 22 B 27 HE
3 BRI 8 Btnhil 13 OB 18 BB T BB 23 BOm R 28 OE=E
4 BhEIMS 9 INARIRET 14 74K 19 OB 24 KRHEE 29 B
5 OB 10 OHLE 15 HEH 20 FEE 25 NBIHEE 30 1257

www.ryancn.com



B R E
RERFKBREE

TR

B o

Y

3

GT

BHDX

GTS

T AR

cv/GT/GS/GH/GRS/GR/GPH/GP/GM

vt

=

160

1611cmd/rev [9.83in3rev]

200

201.4cmd/rev [12.29in%rev]

250

251.8cm?drev [15.36in%/rev]

315

326.3cm?3/rev [19.90in%/rev]

400

410.9cm3/rev [25.06in%/rev]

500

523.6cm3frev [31.95in%/rev]

630

631.2cm3/rev [38.52in%rev]

725

724.3cmdfrev [44.2in%rev]

O ttsh O iR YFRIDAE
E) E= 43 O RO 83 | BRE
H6 | “ )% 0 G3 | G3/4 1Rt 4xM10, GL/4 A P NZSE S
G ] Q
M5 | M27 x 2 i)zt 4xM10, M14 x 15 B E&
EZ 9162 U4 | 1-1/16-12UN O, 9/16-18UNF c wE
1579
S RRE
)i U5 | 1-1/16-12UN OZ![], 7/16-20UNF
BES9200| || G4 | Ga/a GL/a
Wi LR THRE
M9 | M27x2, M14x15 88 | e
A TR
B2
i B F BH%
Jala i .
c2 16-DP 12/24 L &
4-9145 J5E= 162
0 $127x10 -
H8 SK G40k Vv =8
, EH2 12x8x70
N S &R
sL $38.1% @
FH2 9.53x9.53x57.15
$38.1% | .
RO ses 17.0P 12/24 = | i jirdB)
M A PR
RA ®38.1% =
152 17-DP 12/24 i = s
T6 dA455EH 1:10
42 B12x8x28
T7

453 1: 8
SEiE 11.13x11.13%x31.75

R7 ©34.85%
TH#26-34.85x28.14x8.64
SM $31.75
EHE 7.96x7.96x40
R3 $31.754)
1642 14-DP 12/24

www.ryancn.com




Iﬁ I8l i &
GM/GP/GPH/GR/GRS/GH/GS/ GT /Gv HERGRRLR

HRESE
i GT160 GT200 GT250 GT315
HE cm®/rev [in*/rev] 1611[9.83] | 2014[1229] | 251,8[1536] | 3263[19.90]
R &R S 622 620 496 382
RPM [iEsd 775 752 601 461
RAHE LS 47[4160] 59[5220] 73[6460] 95[8410]
daNm [lb-in] isigsd 56[4960] 71[6285] 88[7790] 114[10090]
[:30=] 66[5840] 82[7260] 102[9030] 133[11770]
BRANE L 26,5[36] 335[45] 335[45] 335[45]
kWI[HP] Wz 32[43] 40[54] 40[54] 40[54]
RAESRE ELE | 200[2900] 200[2900] 200[2900] 200[2900]
bar [PSI] BR4E | 240[3480] 240[3480] 240[3480] 240[3480]
I&E | 280[4050] 280[4050] 280[4050] 280[4050]
RAMRE EEE 100[26] 125[33] 125[33] 125[33]
lpm [GPM] Wre 125[33] 150[39.6] 150[39.6] 150[39.6]
RAHHEND EL | 210[3050] 210[3050] 210[3050] 210[3050]
bar [PSI] Wrsz | 250[3600] 250[3600] 250[3600] 250[3600]
I&{E | 300[4350] 300[4350] 300[4350] 300[4350]
BRAMHORHEN ELE | 140[2030] 140[2030] 140[2030] 140[2000]
bar [PSI] WRgE | 175[2540] 175[2540] 175[2540] 175[2500]
e[ 210[3050] 210[3050] 210[3050] 210[3000]
BRAFBIENFTEZEBETR bar [PSI] 10[150] 10[150] 10[150] 10[150]
=/NFFEHE RAEIR EE 34[3010] 43[3800] 53[4690] 74[6550]
daNm [Ib-in] RAERE Bras 41[3630] 52[4600] 63[5580] 89[7880]
RIEER 10 9 8 7
GT 20[44.1] 215[47.4] 21[463] 22[485]
= kg [Ib] B#BO + 0.450 [.992] GTS 15[331] 155[34.2] 16[35.3] 17[375]

www.ryancn.com



B R E
RERRBREE

cv/GT/GS/GH/GRS/GR/GPH/GP/GM

HRESE
x# GT400 GT500 GT630 GT725
HE cmifrev [in®/rev] 4109[2506] | 5236[3195] | 631,2[3852] 7243[44.2]
ReER L 304 238 197 172
RPM WLz 368 289 234 209
RAHE HELE | 108[9560] 122[10800] 130[11500] 127[11240]
daNm [lb-in] Wr4E | 126[11150] | 137[12125] 148[13100] 147[13010]
&8 | 144[12745] | 160[14160] 176[15580] 175[15490]
RAME L 30[40] 26,5[36] 24,3[33] 20.2[27]
kW [HP] i3jp=d 35[47] 30[40] 275[37] 26.8[36]
RAEIR EE | 180[2610] 160[2320] 140[2010] 120[1740]
bar [PSI] Br&E | 210[3050] 180[2610] 160[2320] 140[2010]
I&E | 240[3480] 210[3050] 190[2760] 165[2395]
BRARE L 125[33] 125[33] 125[33] 125[33]
lpm [GPM] W4z 150[396] 150[39.6] 150[39.6] 150[39.6]
RAHBEND ELE | 210[3050] 210[3050] 210[3050] 210[3050]
bar [PSI] Wik | 250[3600] 250[3600] 250[3600] 250[3600]
& | 300[4350] 300[4350] 300[2000] 300[4350]
EAHSHOEHES S | 140[2000] 140[2000] 140[2500] 140[2000]
bar [PSI] s 175[2500] 175[2500] 175[3000] 175[2500]
& @ 210[3000] 210[3000] 210[3000] 210[3000]
RAFBENTE@ER bar [PSI] 10[150] 10[150] 10[150] 10[150]
=/NFHEHE BRAENE ELE 84[7435] 95[8410] 95[8410] 95[8410]
daNm [lb-in] RAEIE M 97[8585] 106[9380] 110[9740] 115[10180]
RIRHE 6 5 5 5
EE kg [Ib] GT 23[50.7] 24[529] 235[518] 24,5[54.0]
JZ0 + 0450 [.992] GTS 18[39.7] 19[41.9] 18,5[40.8] 1955[43.0]

www.ryancn.com



GM/GP/GPH/GR/GRS/GH/GS/ GT/Gv

85

MEREH 26 E

160

sy | om0 B o= g £
b-in § daNi =5 556 & =5 5|5 £ £%
o0 22 82 gl 3l e g& e
5 S &l
5000 ” % —(—r—{‘j—L =240 bar
55 \ N \\\ S5k 3480 PS|
4500- 50 ! \
70% o
40001 45 £ \ ! } H 3 200 ba
t \ 80% j 2900 PS|
or T e N 16000
35 5¢ \ 2320 PS||
3000- 2
30] 8 7 \ y'w 1736%\ \1 \}\ 20kW \\
2500-
| [N e
[ 111 ] |
2000+
20 10KW-
! i e s Y
ST s ( i b.L/ 5kWJ> l >47 1160 PSl|
e f 1 L‘» | 40 bar
5001 g — { T 580 PSI
o o 1 i | \

cont=— | —= int.

n

o 100 200 300 400 500 600 700 800mirt (rpm)
M| M S £ £z EH gz ER gz EH
-inf dahy EsEs Es Es B Ep £ Bl
85001 gs] ofe 82 Qe 8lo 8= 8le St 8le
& i gl 3
8000t o
—— =240 b
75001 851 V/ ﬁ ng a0 P
70001 8 \ \ 40KW
esoof 7 £ 70% T | 200 bal
oo 7 0% 35K 2900 PS
651 —| |
55001 & 25KkW
30kW
50000 gsl g oew | | o0Pa
4500t 5ol 8 =
4000+ 451 EES
4 | 120 baf
350 o 1740 PS
30001 35
2500 2 1 5 T — 80 ba
200 257 <s7 N=5kwW 1160 PS|
2
1s00f | |l | \1
100(
1 L 40 ba
5000 sl L= =i +,/ l \ 580 PS|
ol ol !
cont=— | —= int. n
5} 50 100 150 200 250 300 350 400 450 mirt (rpm)
= € < < £ = = €
vy EEEE HE £ ER g g
oind dali S I I SR~ (R Se 56
E o o o
N8 % 8g ER I 83 8
13000} 150 ‘ y
12000] **° I T~ 2p=180 bar
130} & 2610 PSI
1i000p * 160 bar
[3QK\ 2320 PSI
10000 L
no [ 140 b
ar
90001 100 & o 2030 PSI
2 20kW 2
80001 901 § = 120 bar
15K 1740 PSI
70001 80
60001 7O rL 7 L 90 bar
= 87% TI60 PSI
s000] 60 Sk nEz90% | 10K ast] T
0 80%]| |
4000 il i o 60 bar
40 IN=2,5KW. — 870 PS|
3000 20 | —
20007 507 [=XH f [ — —— 30 bar
1000 [ — 435 PSI
10 |
ol o
cont=— | —= int n
0 25 50 75 100 125 150 175 200 225 250 275 300 mirf (rpm)

M
Ib-in

6500

6000

5500-

5000-

4500-

4000

3500

3000

2500

2000

1500

1000-

100007

9000-

8000-

7000-

6000

5000-

4000-

3000-

2000-

1000

400

M
Ib-inf

11000
10000
9000
8000
7000
6000
5000,
4000
3000
2000

1000

Im Bl & [E

HERGRBRREGE

MREE R E TR DIARITIISE, TRAEE0S-13KIA, KiE32mms, 50 °C,

www.ryancn.com

A EH M gz £ = gz
Slege S g ga sle RS 32
Iy S It ~ S g8 B
O
35k ;450 PSl|
W \ \ \—7" P=240 bai
LA Ba ANER N
1| e W UNANEE S A8
g AP B S A NS SN BTN R
5 ﬂ/A\—\\’; /\k i S Eh | 1c0bm
86% 2320 PSI|
J|/ | N |
15k K\ Tars
{ OkwW ‘
‘]//’Lﬁ nF87% . N\E \/‘l\ 112&52:
c I
\ 3 |
[ Y e — -
\\ 1 I T
cont=—|—=int N
0 100 200 300 400 500 600 700 800 mirf (rpm)
L |EE B B B § B B
daiind N8 % 8y B8R ge g3 e
120- "" \i LI ‘_\ # <
BAVER SyNw sEsess
1007 o —
wof | A EisEEsene Sl |
SRR AT TN
85% |1 \_\'A ‘¥ 3w \l\ 160 bar|
70 § / / 97%\ 20l 2320 PSI
60 = k
///71/ 1 T—‘ﬂ*h — 120 bar|
50 / | / 10kW| 1740 PSI
2 T I D e e I R
LAL > i
N = [l
0 e /:Ti/ | T s
° cont=— | —=int N
o 50 100 150 200 250 300 350 400 450 mirt (rpm)
dan i: Se 98 85 8 88 9 §§
130 Al
= A N e :
1207 g \7‘0\( ) | — beors
110
A e AN N B N
gl A |
e AN T | RS v
8ot ©
87% 25kwW
70 "" - "/ l\‘h \ 7\ \\ 120 bar
) \ 20k Tﬁ 1740 PSI
o I !
4 N ay il
*© / /l n!:sa% \ 15K\ ><:1 1128 gglr
AR RN e S == N
wf N .
x|\ i g = =
[—] q::f\izg\;\ 30 bar
10 \‘_T l 70 ,Jr ' ‘ 435 PSI
o
n
o 50 100 150 200 250 300 350 mirf (rpm)



Im 1Bl & [E

HERGRBRSEE

cv/GT/GS/GH/GRS/GR/GPH/GP/GM

' RE £ B

M| M £ £ = g= o= o= o o=
iind canif 2§ #§ £ gz e M M B85 B 85 5 OSh =S 5
160 =6 6 (& 55 =[5 =[5 =[5 . ol Sle gle glo glo 3= glg 2g g
14000 H o o o o 2l 2 Ib-inf! daN (¥ S B B S Bl B
R NE 82 8 88 e 82 14000} 160 9 = 5
13000] 150 = & 3
o000l 140 Y — 13000} 5°
2 4p=160 bai 140 —
11000 1301 £ 25k 2320 PSI 12000+ —~—1 |
120 ﬁ =T g 2o | [T sP=140 ba
10000 \ 140 bay 110007 U 2030 PSI
110t — 20kw. ?
¢ 2030 PS|| 10000+ 1104 120 bar
90001 100 | 2000 & = | 1740psi
8000 9ol & 7/\ 120 ba 00 =
8 15K 1740 PS| 80001 g0t E
70001 80 8
o #Wﬁﬁjﬁ%:&% Zi: 75 7000} 80 90 barl
6000 90 bai 70 1160 PSI
s000] 0 L 1160 PS| 6000 bl [2oK 73%
50 (/(Jf negT% ﬁ 10k J so00} € 75
4000 ]( ( < 7%7: 50 nz82%/| 8o% 60 barl
40 60 ba 4000- s T 870 PSI
3000 e 870 PSI 40 =
30 S| — 3000f o L4 —
2000} 5o = i — 30 bar
S| 20ba 20001 20 —a3sPs|
10001 10 ’ 435 PS| N=25K
10001 10
0 - o
cont=— | —=int n cont=— | —=int n
0 25 50 75 100 125 150 175 200 225 250 mirf (rpm) o 25 50 75 100 125 150 175 200 205 i (pm)

RETRENIEHDIARTFIISE, TRAEE0S-1IKIH, #E32mmass, 50 °C,

www.ryancn.com



% B & E
4 % 2=
GM/GP/GPH/GR/GRS/GH/GS/ GT /Gv RERARATR

GT R{FIHO2%

N
\

=
]
v

70 <
125105 125105
L |
5 VS \ 2003
N o 21.6¢o.§ } J N
Vil S 21.620. =9 f
20+0.3 N '
I 216105
Ll L L1 L2 12505 12505
GT160 193 17 1425 23+0.6
GT200 197 21 | 1465
GT250 204 14 | 1525 20
GT315 210 20 1585
—=
GT400 | 217 | 27 | 1655 N\ 20£03
Lo .
GT500 225 35 1735 A 8 Q____ |
GT630 | 237 47 | 1855 T Lok &
GT725 248 | 58 | 1965 S
23+0.6
K15
s G3 (RE) M5 (RE) U4 (RE) MO (RE) U5 (RE)
ESE
P(AB) G3/4(18) M27 x 2(18) 1-1/16-12UN(18) M27 x 2(18) 1-1/16-12UN(18)
T G1/4(12) M14 x 1.5(12) 9/16-18UNF(12) M14 x 1.5(12) 7/16-20UNF(12)
c 4-M10(10) 4-M10(10) - - -

www.ryancn.com



cv/GT/GS/GH/GRS/GR/GPH/GP/GM

GT BIESH

21.6+0.5

<180.

2200£0.4

<143 18 31 18 31
oo Oq
ARRi=] =k
S |

v ) |
60 9 60 9
<180. SHES
plisa !

www.ryancn.com




“ GM/GP/GPH/GR/GRS/GH/GS/ GT /Gv

GTS ZHADAFAHOSE

Im Bl & [E

HERARBRREG R

Ha
Ha
sz |
EZB2
EZHS
Bs L L1 L2
GTS160 148 17 96.5
GTS200 152 21 100.5
GTS250 157 14 109
GTS315 | 163 20 115 43 ) ) )
Gs :;T‘E-u- M5 t;T‘E-u- U4 25'7‘%-&- Mg TR EF AT R

GTS400 170 27 122 223 (RE (RE (RE (RE) Us (RE)
GTS500 178 35 130 P(A B) G3/4(18) | M27x2(18) | 1-1/16-12 UN(18) | M27x2(18) | 1-1/16-12 UN(18)
GTS630 190 a7 142 T Gl/A(12) |M14x15(12)| 9/16-18UNH12) |M14x15(12)| 7/16-20 UNH12)
GTS725 | 201 58 153 c 4M1010) | 4-M10(10) — - -

www.ryancn.com



@aﬁﬁﬂﬁ
RERRBRLE
6v/GT/GS/GH/GRS/GR/GPH/GP/GM

GT B RTS8
1 =
N\ ER N o
g J 2 - e J
<J 3/8-16UNC -‘J
le25 ] - o
Bt 340 Bt @31.75
42 12x8x70 42 7.96x7.96x40
™ =
o N\ m‘ &
o5 -2 9 % e NN
3 3 7 S
] N <J
Bt @38.1 et 14-DP 12/24
42 9.525%9.525x57.15
T6 17
\ = ‘1
) & = "’l /17 57101
zg w, | | h“."
@ig@ N
% _\2f\J
t—u N
22 5§32
%‘EEE ®45 %&EH} ®45 80.4+0.4.
SE§E B12x8x28 SEHE 11.13%x11.13x31.75
2EHTZ % 500 £ 10 Nm 2T E % 500 £ 10 Nm

www.ryancn.com




I% Bl ¥ [E
GRS =
GM/GP/GPH/GR/GRS/GH/Gs/ GT/av MERGRRER

CT HERISH

g
5741
5741
- <—| 3/8-16UNC <—l
G§ : R ] "g T I\
g oy J : | J
82
2 17-DP 12/24 7E42% 17-DP 12/24
6X8.64011 100

0

@29.5¢

234.85012

|8

22814025 . R6.7 f
00
%\ -
g 3 T Ny
1 Wil —
SSinsam
M8 T
18

38+0.25

76£1
108+1

b5 6-34.85x28.14x8.64

www.ryancn.com




% Im I8l i [E
RERZBREE 92
6v/GT/GS/GH/GRS/GR/GPH/GP/GM

GT #E£ 31X
WHEEHER RS NES
Bar
100 — - 1 - T
75 JEF T l |
50 MELET (ERY ‘ ‘ H\ ‘ ‘
25 e ‘
— L. # |

0 -

0O 100 200 300 400 500 600 /434

A
st 0 - SEMERDE, POREREmLS EENCTR
i RN KER S B EHE PR,

ERNEHENERS, BLMENE LOENRETEHE HEIREDDE, 2R DEENGTRY M
BOMES, MERNHHEN, BEHZHE ENEDINS HENSTBE LHEN,

MR E R PHIEIERE,

HRERIARETT M AR
LEF DKWL, HiEs:

Ly O A SRR, IREYEH AN
L3 0B R, MEETETTEINER,

W HFERA

Fr

BEMATESBOONERENNEEREDET, H
%" N"ERERAEOMAY, FEBEZHBLRsIBEN
HABEBEHRRNEKR, BIMRFRBLERTBIOKE
200 RPM T 89 %& a4 3000/)\8F

www.ryancn.com



